MAT 136 (Calculus I), Prof. Jim Swift
In-Class Worksheet: Derivative Shortcuts 3.

This is a pencil-and-paper exercise. No calculators.
1. Let f(z) = 32% — 4z + 7. Compute f'(z), f"(z), f"(x), and f@29(g).
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3. Let f(z) =sec(z). Find f'(z) using a trig 1dent1ty and the quotient rule.

£y = o f (x)= AT s = L (s8]

Cos(9 (Costx
_;_L(:iﬁ‘i) SR
pS (W 005’(*)

Anotia~ Form ot fe answe/ £
o (seeia: 508 - E5EL - 5y s OO

Goitr) - sty asty)

&0 M‘:j wosd 1o QO.of\tQ fuis Gl bt P
Wn

Qf MR-
AT
p\d (s Qc(*é\&: Jan() S
X




